®15&~ 18R BFOH A=RE-F—ToHEEY B=HK-Tov/HIEEYK

(44 K4 BEHRAUL | RERAUL | HRKRAUL | R—FR
1 b Bk 138.35 130.00 8.35
2 |dbE EiAE 110.00 68.00 42.00
3 Bl 85.00 69.00 16.00
4 | BEEH =N 57.65 48.00 9.65
5 |FHA BE 50.52 45.50 5.02
6 AN —iE 50.15 36.00 14.15
7 | BE E{Z 49.85 46.00 3.85
8 | i\EAX 46.02 27.93 18.09
9  |FaK FEHL 45.85 33.50 12.35
10 |48 B3 45.23 31.63 13.60
11 |=H Hih 4405 36.00 8.05
12 | K Rth 4117 30.00 11.17
13 |ATHE RB#k 32.62 2.45 30.17
14 UMK BEHE 30.74 30.74
15 |H3 B— 30.02 26.30 3.72
16 |[F]R Kin 25.60 19.00 6.60
17 [3A[AR A 24.00 24.00
18 |hE HE 23.03 18.30 473
19 |EH —R 22.32 19.00 3.32
20 (W —F 19.74 19.00 0.74
21 | /B FEXRER 19.56 6.00 13.56
22 |k EFH) 19.43 16.50 2.93
23 |ZER &K=F 18.00 18.00
24 |HEKRK &% 17.00 0.00 17.00
25 |7JK;B B KX 15.69 14.10 1.59
26 |[E=ZF Y 14.53 10.90 3.63
27 |fRE EXER 12.92 12.00 0.92
28 |HBF BE 10.96 10.96
29 |f8H ALEA 10.85 6.75 4.10
30 NETO-BRADLEY MARLON 10.81 4.50 6.31
31 |HE BX 10.11 8.10 2.01
32 |A+E Bd 9.70 9.30 0.40
33 |IZtf E 9.63 7.50 213
34 |FH 9.49 7.55 1.94
35 |hEIRE ZHE 9.24 6.75 2.49
36 (LA EiE 8.97 8.97
37 |ERE EIR 8.87 8.00 0.87
38 |HLE £ 8.40 4.30 4.10
39 |EBim Edk 8.17 6.90 1.27
40 |EE BEAXER 8.15 7.00 1.15
41 |tRN EiE 8.05 6.50 1.55
42 |FEIL RE 7.70 7.70
43 |BEBI| #f 7.69 5.00 2.69
44 |BER[E ZERE 7.43 2.63 4.80
45 |Hp F 6.85 5.25 1.60
46 |{F=E BN 6.62 3.80 2.82
41 | K[ fE 6.35 4.30 2.05
48 |FRF =E 6.21 2.00 421
49 |[FEER BRI 5.75 5.75
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¢ 15~ 18MBFDE A=RE-A—TOoHBEH B=#R-TOy/HIHEYK
IEfz K& BERAUL | RBRAS | RRAV | B—FR
49 |ZREME ®E 5.75 5.75
51 |BR &R 5.43 2.63 2.80
52 |p&EH BEX 5.42 4.10 1.32
53 [JIlE JEZ0E 5.41 4.90 051
54 |EH KE 4.90 450 0.40
55 |=78 KM 4.81 2.63 2.18
56 |[{EiE FPK 4.75 4.75
57 |HEH BFH 463 2.10 253
58 |BH —E 4.60 3.30 1.30
5 |pEH EER 450 4.10 0.40
60 £k RS 4.33 433
61 |=W fAER 4.26 3.60 0.66
62 |l iR 3.98 3.00 0.98
63 |/FT BX 3.75 3.75
64 |3EHE FO5A 3.66 2.00 1.66
65 MM K 3.40 3.00 0.40
66 |FhH fE— 3.32 3.32
67 (LU BEH 3.31 2.45 0.86
68 |3k [RINE 3.26 2.80 0.46
69 [/NE K 3.11 2.60 0.51
70 |{AEZ BX 2.81 2.30 0.51
71 =28 T 2.60 2.60
12 |AIEF #BE 2.33 233
73 |3 RAKER 2.13 2.13
74 |E)I RE 195 195
75 |HEH & 185 0.00 185
6 |TmH B|2E 165 165
77 |BEEEF JiE 1.51 1.51
78 |BR[ER (&t 1.44 1.44
79 |A[HE —XK 1.40 1.40
79 |{FiE FTIR 1.40 1.40
19 |IMNKE KiE 1.40 140
82 |EAK {Z# 1.30 1.30
83 |FIE F|E 1.26 1.26
84 | K HE 1.20 1.20
85 |HihR BE 1.15 1.15
86 |Z=H &3 1.06 1.06
87 |EF ENXEA 0.99 0.99
87 |PHEF HH—ER 0.99 0.99
89 |MEE AN 0.94 0.94
90 |M[ED RIK 0.93 0.93
91 |BH BE 0.92 0.92
91 |PERE {BEH 0.92 0.92
91 (¥t & 0.92 0.92
9% |#&H WE 0.90 0.90
94 |RKJT EBEX 0.90 0.90
96 |FEAE [EHK 0.88 0.88
97 |{BEH BX 0.87 0.87
98 |FEIEF THhAk 083 083

e N N N N e T T T T T N N N e N T T T T T N N N e T T T N N N e T T T T T N N N N T T T T T N T N N N e T

O O O O O O O O O O O O O O O O O O O O O OO - O O O O = = = =4 0O —= = 0O —= = 0O = = =4 O = = = = =2 O X»

—_ NN NN = = = N = NN NN = = NN = = = NDNNMNDN-—- NN = =2 a2 ad a0 =2 N = = = N =N NMNNDN = = N = =

R N N N N N N N N N N N N N N N N O N N N N N N L N N N N N



15~ 18R BF DL A=RBE-A—TUoHBEH B=#K-TOy/HizEHK
JE fiz K4 BERARAUE | REBRAUE | RRAUF | R—FR
9 | KR & 0.82 0.82
100 [fERK i 0.79 0.79
101 [FBBA =B 0.78 0.78
102 X8 FHKXEA 0.76 0.76
103 (A = 0.74 0.74
103 |Flsth K 0.74 0.74
105 |[FZE B 0.72 0.72
106 |HK =| 0.69 0.69
107 |fBR X#0 0.67 0.67
108 |gkfE = 0.66 0.66
108 |ZR BF 0.66 0.66
108 |Zgith Ak 0.66 0.66
108 [#210 X 0.66 0.66
12 (3 E&EA 0.58 0.58
12 |[FFER R 0.58 0.58
112 [ KIS &5 0.58 0.58
112 |Bl Kih 0.58 0.58
116 |iFE X 0.46 0.46
116 |F1i# JE X 0.46 0.46
118 [¥ERR BRI 0.40 0.40
118 **EE %g 0.40 0.40
18 |FE #383 0.40 0.40
118 |&gith Fpk 0.40 0.40
122 |Bh$ = 0.33 0.33
122 | (% HRE 0.33 0.33
124 |3 7KER 0.28 0.28
124 (PPl SZEB 0.28 0.28
124 |/{E £EX 0.28 0.28
124 |{Fik WE 0.28 0.28
128 |5 WE 0.23 0.23
128 |FPAR FRAHER 0.23 0.23
130 |TEE K] 0.17 0.17
130 |XH Fw 0.17 0.17
130 |7y B 0.17 0.17
130 |ER HEXER 0.17 0.17
130 |&XR HRE 0.17 0.17
130 | BH X 0.17 0.17
136 |JkH B2 0.11 0.11
136 |RH EXEB 0.11 0.11
138 |fTH & A 0.10 0.10
138 |IRAR EFE 0.10 0.10
138 /NG 5 0.10 0.10
138 |fff E 0.10 0.10
138 |EEIL FH&E 0.10 0.10
138 |FE ECD 0.10 0.10
138 [IUAR HiE 0.10 0.10
138 |KEr BEt& 0.10 0.10
138 |GEE #E 0.10 0.10
138 LU = RKA 0.10 0.10
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S15E~ 18R BFOH A=RE-F—ToHBEH B=HK-TOv/HHEEYK
B4 K4 BEHRAUL | RERAUL | HRKRAUL | R—FR
138 |[FE =I5 0.10 0.10
138 [JAA SHE 0.10 0.10
138 |#Af IEX 0.10 0.10
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